Monifieth High School Maths Department

S1 Topic 16: Angles.

1) Revise Angles 1 (Topic 7).

2) Calculate the size of angles where lines cross (opposite angles are equal).

Given this angle is
132°

This angle is 180 — 132 = 48°
(Supplementary)

This angle is also 48°
(vertically opposite)
This angle is also 132°
(vertically opposite)

3) Recognise equal angles when a line crosses parallel lines.

Given this angle is 120° / 60° (180 — 120)

60° (vertically opposite) 120° (vertically opposite) >
Corresponding angle of 120° 60° (as above)

60° (vertically opposv 120° (vertically opposite)

v

4) Recognise alternate angles (Z-angles)

The angles marked * are equal.

/ * * *
*




5) Solve problems using your knowledge of angles.

Fill in the size of all the other angles on this diagram

6(\ 95° /

REMEMBER TO SHOW ALL YOUR WORKING
AND EXPLAIN YOUR ANSWER FULLY!




